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o IV FIT W T [F 5 AT F gRG §E 16 T
797 27 31

Please make sure that the printed pages in this
guestion paper are 16 in number and it contains 27

guestions.

o 7y A @R A @ v R T @ TET 7o T 7
G Gov-gikidl & HEI-ge 9T d)
The Code No. and Set on the right side of the

guestion paper should be written by the candidate

on the front page of the answer-book.
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o YT FIT H T kiaT §E T G UBA, AT H TG
HTFT [
Before beginning lo answer a question, its Serial

Number must be written.
> FrT-yiaer # dT q @il g/ g T Sle)
Don't leave blank page/pages in your answer-book.

o FCyRTE ¥ SHaRkFT i o e T B o
SHFSTEAFAT &1 ford ofre for@r goe 7 #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

arnswer.

o GYETEff AT T do FIEGH U FIT f@

Candidates must write their Roll Number on the

guestion paper.

* YA G F Ja7 37 G g7 78 ghtvad ¢ d B g9
g 7 @8 2 qhEr @ ST 59 T H @3 A @@
BT TET 19 TR

Before answering the question, ensure that you
have been supplied the correct and complete
guestion paper, no claim in this regard, will be

entertained after examination.
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FH 76
General Instructions :
(i) @ ge7 SFard &
All questions are compulsory.
(ii) aEqglTe T3 ® qo AFey fd)

Write the correct option in objective type
questions.

(iii) & T ard gl 7 onaR® fawey FT maET 8

Internal choice has been provided in long
answer type questions.

(iv) T8%F 797 & 7% GTF AT nd 7 &
Marks of each question are indicated against it.

qus - A
SECTION - A [ Marks : 20
(it fasim)

(Physics)

1. 93T & 999 g4 & 1 o9 e FRo 4 Red

27 1

(A)  FEHIYH (B) fedimor
(C) aT9aT (D) TrESH
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Colour of the sun at sunrise is red due to :
(A) Scattering (B) Dispersion
(C) Refraction (D) Reflection
2. 1 & § P9 AR For Wi B ITET q@E 7
(A) el
(B) e
(C) e
(D) ST Sl

Which of the following is not an example of bio-

mass energy source ? .
(A) Wood
(B) Gobar gas
(C) Coal
(D) Nuclear energy
3. uRaie @ #1 4 8 ? 1

What is the function of iris ?
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4. &t o & ooy B e WAk FTar R

On what factors does the resistance of conductor

depends ?

5. &l & R Bd J @ T A E 7 2

What are the properties of a good source of

energy ?

6. @is 7@ HITT 220 V & fFd Gid § 5.0 A faEg g
ddt B dieT i afF MRy Fife qw 2 992 F de

BRI JTFT Holl YRl i 2

An electric motor takes 5.0 A from 220 V line.
Determine the power of the motor and energy

consumed in 2 hour.
7. AUH Y9 & g9 & O o9 YT & 'R’ B favg |
al aeg gl B 2

FH TTERT (Reduce), Yd: THY (Recycle) & 9
ST (Reuse)l G: ITANT H T R & HT
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You must have come across the three R's to save

the environment :

Reduce, Recycle and Reuse. Explain Reuse in

detail.

8. (a) T K IO U P IHAT R (C) W fRrw B
Iq Gy ® Uiies H Rufa, g qor g @
@it $ g g9iEu 2

An object is placed at the centre of
curvature (C) of a concave mirror. Draw the
ray diagram to depict the position, size and

nature of image formed.

(b) T9 @9 @ BiFG T TG HC Es dwar

20D EFA PRI AT Z ? 2

Find the focal length of a lens of power

-2.0 D. What type of lens in this ?
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9. Witk SRE WiEwt &dl BEg S & 99 fee
R Py W iy EE M m A FE s 7 6

Explain the underlying principle and working of
an electric generator by drawing a labelled

diagram. What is the function of brushes ?

HYdr
OR

(a) ORI § SUHT FT AUE B 7 GH GRATED
% mafed fem oo & FR9 gR@E &9 &
Jrfad #iv oR=ias & SwE ) of g
- |

What is a solenoid ? Draw the magnetic
lines of force around the current carrying

solenoid. Write the use of solenoid.

(b) TRATHT T fevr-sw W a4 B 7 gEsIIU 2
What is the Fleming's Right-Hand Rule ?

Explain.
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10.

11.

(8) 4205/(Set : B)
gg - §
SECTION - B [ Marks : 19
(v fae)
(Chemistry)

= ot affea & - e sk &
@B ? 1

CuO+ H, - Cu+H,0O

Which reactant is reduced in the following

chemical reaction ?

CuO + Hy —» Cu+ Hy,0

P U W faems A, B @ C ¥, B9 pH @1 AW
FAM: 3, 7 W 9 B JUUET A § IE-A1 fAemd Ay
B ? 1

You have three solutions A, B and C, whose pH
value is 3, 7 and 9 respectively. Out of above

solutions, which solution is basic ?
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12. @d M, MClL, g7 aidl U Fa05s a9 81 oAmad awel
# 98 @ M dvaa: fea 9@ @ ofdwa am ? 1

(A) Si (B) Al
(C) Na (D) Mg

Element M forms a Chloride with formula MCI,.
Element M would be most likely in the same

group of periodic table as :
(A) Si 4. ¥ (B)gal
(C) Na (D) Mg

13. TEfaremes sifferarst & omu =1 998 & 7 g% JEE
(Tt i) i )

What do you mean by double displacement

reactions ? Give one example (chemical equation).
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14, s g9 @1 TAEMNS 3 #@0 8 ? gEe T G a
THES THBTOT ) 2

What is chemical formula of bleaching powder ?

Give chemical equation used in its preparation.

15. AYH Ed RN & HEd # aE § @ o §W W)
dqifeas o1 fFe g aRafda &iar 8 7 sr fofawm 2

In modern periodic table, how does the metallic
character vary in a period on moving from left to

right in a period ? Write its reason.
16. (i) oigsft & ovil & oiffer &t & F B B 7
g JEET i) 2

What happens when metals react with

acids ? Give one example.
(i) wfeEET A0 @ e |iRd Ao it 2

Explain the reactivity series with example.

4205/(Set : B)



17.

()

(i)

(11) 4205/(Set : B)
o= AifrRt #1 AT FifT §xBwi
o)
(a) CH; - llill'—— OH
(b) CHjz;-CH,-Cl
() CH;-CH,-OH
Write the names of following compounds :
o
@) CH;- - o
(b) CHjz;-CH,-Cl
() CH,;-CH,-OH
Ao A6l @ et B 7 SREW B WM
HHEARU 3

What is homologous series ? Explain with

example.

HEET

OR

YA F1 GEE URHA & feaaiy & aue St 6

Explain the mechanism of cleaning action of

soap.
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g% -9
SECTION-C [ Marks : 21
(ofter e

(Life Science)

18. fr=ifia # § SF-A1 $a0 o/ eoiE g&r
WE 7 7 1
(A) TegHifTEH, e, g
(B) wAECH, A, THSI
(C) UegHiaw &1 fEa, wiites, &g & aha
(D) ufeEl, =94, wiites

Which of the following is a group of only non-

biodegradable substances ?

(A) Aluminium, Plastic, Leaves

(B) Plastie, Grass, Wood

(C) Aluminium Can, Plastic, Glass Bottle

(D) Leaves, Grass, Plastic

4205/(Set : B)



(13) 4205/(Set : B)
19. ffafad # & frad Hror et &t uivl qeem ot & 7 1
(A) SRR
(B) MR
(C) e
(D) ufsafE® v

Wilting of leaves in plants is due to effect of

which of the following ?
(A) Cytokinin
(B) Auxin
(C) Gibberellin
(D) Abscissic Acid

20. i @ T 7§ FrOdE a1 BT B HE T
3?7 |

Which synthetic chemical is responsible for

depletion of ozone layer ?

21. GT5ga+ fFd #ad B 7 1

What is Regeneration ?
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22. AN fhg e $ dedver & foq oM B ? 1

Iodine is necessary for the synthesis of which
hormone ?
23. AF4 # W B M FY B 7 2

What is the function of ovary in human beings ?

24. THUFH JIUT 7 2 ? THH T A B 7 o

What is vegetative propagation ? How is it useful ?

25. uftrEdt =9 @ & ? I gadl dfemr e o a9 s
27 )

What is reflex arc ? What is the function of

sensory neuron in reflex arc ?

26. #zq & 7AW STER & Tl oRw (ME F B ) @
(e 7 9@ =) 1 w@ad g B AR S
Eﬁﬁt{l 4

As per Mendel's Law, describe the independent
assortment of two separate traits (rounded and
green seeds) with (wrinkled and yellow seeds)

along with diagram.
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27. () UEW F A B ORIFCRO qead: fFg wAm g
Td &8l 9T B § 7 14144

By which part of plant translocation of

food takes place ? Where is the food

translocated ?

(i) =9 H 9 $ TWEOer #H T @ e
HiE

Explain the process of translocation of food

in plants.

Hear
OR

(i) w9 # ARIGH g HeEq SEARNES & IREsd
$4 Bl 8 7 fawngEs fafw 4+2

How does transport of oxygen and carbon
dioxide takes place in human beings ?

Describe in detail.
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(i) vaOw & fou SifRfieH o & & fRam § g
St 1 STUar Wi Sig BU ATENE & 7

Why terrestrial organisms have advantage
over aquatic organisms with regard to

obtaining oxygen for respiration ?
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